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B AT B HP ¢ 250mm m 72.00
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HEME AR IR S T Oy EEST &P

o

SRR L (BRI HP ¢ 250mm




He ¥ T (HP ¢ 250mm)
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275~ 7 (L,=2. 3m) t 0. 30 0. 30
2777 (L=2.Tn t 0. 00 0. 00
218 t 0. 65 0. 65

I &2kt

SR T 2% t 0.58 0. 58
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BHO. 45m3
SRR L t=15emLL T 4.4 4.8 4.4 13.6| m2
As T 7 WL5y t=5cm 0.2 0.2 0.2 0.6 m3
A8 IR T
RM-30
FERET t=12cm 4.4 4.8 4.4 13.6| m2
RC—40
TRERET t=10cm 4.4 4.8 4.4 13.6| m2
(T t=3cm 4.4 4.8 4.4 13. m2
AEIHLT
RIFAHAE (RM-30)
AL t=12cm 10.8 11.2 22. m
BAEITvv-7v (RC-40)
SRR L t=10cm 7.3 7.8 15.1| m2
As T 7 /55 t=3cm 0.1 0.2 0. m3
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TX M69 75 EEET (TEHEE) As=5-10-10 = B 2
4 R AN - i & LS - + —
BEGR SRR L T
Al G TATZ 7V b t=15emPA T | L=2.21X4 = 8. 84 8.8 m
AEUE L BHO. 45m3 t=15ecmPA T | A=2.21X2. 16 = 4.77 4.8 m2
AsH T Loy t=5cm V=2.21X2. 16 X0. 05 = 0. 24 0.2 m3
REIRT.
- ¥ T (RM-30) t=12cm t=12cm A=2.21X2.16 = 4.77 4.8 m2
T8 % T (RC-40) t=10cm t=10cm A=2.21X%2.16 = 4.77 4.8 m2
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